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- A=SHTE= 5002 * 6,00021 3,000
- EXNoIEN == 1,0002! * 9,00024 9,000
- HsSisSses sz 3002 * 1,5002 450
- AMINS=SAR SE= 5002 * 10024 50
- JIEt B 7002 * 1,000 700
O EXOIS el 48 (2xMeld) 5,000
- EX(YONXIHAME S 1,00021 * 5,0002 5,000
O USx & A4 SS2A 245 (VAAHID) 18,040
— AR (EY, 22)SS 2,0002 * 1,5002 3,000
- 0INER 1,0008 * 2,200 2,200
- S=EEMu= 7008 * 1,200 840
- Hgs¥ss 20,0002 * 60021 12,000
O RsgEZI| = (AAXIB) 200,0002 * 1™ 2,400
O FUSSE W2 U8 =45 (UAMD)
5,0008 * 1,000 5,000
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O HSE & 0AUEI =42 (HLH4D) 3,450
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— 01 Q5 5,0008 * 5024 » 122 3,000
213-02 M2 I M2l e S B4 222,520 222,520 0
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<M > 222,520 222,520 0
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- 508 658 * 100,000% 6,500
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O AL HOISHMel+ (2ZaZ ) 54,0008 = 1502 8,100
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- 3FSA 5,000,000,0008 * 3/100 150,000
- SEH5AM 300,000,000 * 3/100 9,000
— XNSEXAALA 150,000,000 * 3/100 4,500
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- EEsY 20,000,000 * 3/100 600
O SHAMERES (BHZ D) 30,000,000€! « 14 30,000
O SIEERY2 (MeSFsSA) 2,500,0008 * 42 7] 10,000
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O Z202 < SHAMOIKH(HRD) 1,000,000,0002 1,000,000
O 2202 0K+ (WD) 15,000,000 * 14! 15,000
216-03 JIEFOI Xt 2= 2 25,000 25,000 0
[ 23 ] 25,000 25,000 0
<R > 25,000 25,000 0
O HYHMEASS L JIEIOIR 4 ¢ 25,000,000€! 25,000
220 LAIE M S 12,991,000 12,126,485 864,515
221 THAHOH 2= ¢l 24,300 24,300 0
221-01 ILMWANA AL 5,400 5,400 0
[ 283 ] 5,400 5,400 0
<R > 5,400 5,400 0
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[ 23 ] 18,900 18,900 0
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[ el A ] 42,000 35,000 7,000
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<ML > 1,050 0 1,050
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[ 2ers 3 ] 5,000 5,000 0
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O 2PHSHE S ASSIIT SBRE (22
) 1,000,0008 = 123 12,000
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